

#### Pay Estimate Created Date: November 17, 2021

Ū.	initiatio intanno or	Contract ID 20 Prime Contractor V	01016-A05 ance Brothers, Ii		riod Start Novemb riod End Novemb	er 15, 2021 I	Driginal Contract Amou Net Change Order Amo Current Contract Amou	unt \$0.00		
Approval Date								By User		
November 17, 2021		Gene	erated and Appro	ed and Approved (and should be considered Draft) at the Project Office Level by						
November 17, 2021	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by							g		
November 17, 2021	er 17, Reviewed and Approved at the Central Office Controllers Office Level by							rams		
Original Con	npletion Date	Current Comple	ion Date Actual Completion Date			% of	% of Current Contract Amount Complete			
Novembe	er 1, 2021	November 1,	2021				86.80%			
Cor	ntract Information	al Dates				Milestones				
Date Description	Original Completion Date	Current Completion Date	Date De	Date Description		Currer Complet Date	ion Milestone	g on Diary Charge Days		
Acceptance Date			Milestone - C Time - J1S32		October 26, 2021	October 26 2021	, Milestone Comp	lete		
Awarded Date	November 5, 2020	November 5, 2020	Milestone - C Time - J1S32		October 31, 2021	October 31 2021	, Milestone Comp	lete		

Date				
Awarded Date	November 5, 2020	November 5, 2020		
Letting Date	October 16, 2020	October 16, 2020		
Notice to Proceed Date	December 7, 2020	December 7, 2020		
Work Began Date	October 6, 2021	October 6, 2021		

Contract Total Pa	ay For Estimate No. 3			
	-	This Estimate	Previous	To Date
201016-A05			Flevious	TO Date
201016-A05 Total Posted Items Pay Gross Item Adjustments Incentive Disincentive Liquidated Damage Other Contract Adjustments		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$679,513.13 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$679,513.13	\$679,513.13 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$679,513.13
Contract Total Pa	ayable This Estimate:	\$0.00		
ems Paid This E	stimate Period			
No Data Availab	ble			
	ents This Estimate			
o Contract Adiust	ments Exist on Contract			
	ents This Estimate			

No Data Available



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information										
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work						
J1S3245	FAS S101(69)	Scrub seal	11	LINN	from intersection of Rte. 11 and Rte. 129 to intersection of Rte. 11 and Bus. Route 36 in Brookfield						
J1S3247	FAS S101(95)	Scrub seal	129	SULLIVAN	from intersection of Rte. H and Rte. 129 to intersection of Rte. 129 and Rte. 11 south of Green City						

### Totals by Job Numbers

5	This Estimate	Previous	To Date	
Posted Item Pay	\$0.00	\$448,600.52	\$448,600.52	
Gross Item Adjustments	\$0.00	\$0.00	\$0.00	
Gross Item Pay	\$0.00	\$448,600.52	\$448,600.52	
Incentive	\$0.00	\$0.00	¢0.00	
			\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damages	\$0.00	\$0.00	\$0.00	
Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
7	This Estimate	Previous	To Date	
Posted Item Pay	\$0.00	\$230,912.61	\$230,912.61	
Gross Item Adjustments	\$0.00	\$0.00	\$0.00	
	¢0.00	\$230.912.61	\$230.912.61	
Gross Item Pay	\$0.00	\$230,912.01	\$230,912.01	
	••••	,	,	
Incentive	\$0.00	\$0.00	\$0.00	
Incentive Disincentive	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	
Incentive	\$0.00	\$0.00	\$0.00	



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



## Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
01016-A05	J1S3245	0001	0010	4132000	SCRUB SEAL	353,281.00	0.00	353,281.00	SQYD	286,890.50	\$1.33	\$381,564.36
		0001	0020	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	1.00	\$500.00	\$500.00
		0001	0030	6161005	CONSTRUCTION SIGNS	3,457.00	0.00	3,457.00	SQFT	3,457.00	\$6.00	\$20,742.00
		0001	0040	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$25.00	\$100.00
		0001	0050	6161025	CHANNELIZER (TRIM LINE)	284.00	0.00	284.00	EA	20.00	\$5.00	\$100.00
		0001 0060 6161040 FLASHING ARROW PANEL			FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$1,000.00	\$2,000.00
		0001 0070 6181000		6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$11,000.00	\$11,000.00
		0001	0080	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	69,242.00	0.00	69,242.00	LF	69,242.00	\$0.18	\$12,463.56
		0001	0090	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	173,528.00	0.00	173,528.00	LF	111,836.60	\$0.18	\$20,130.5
	Project J1S3245 - Total Value Posted to Date as of Report Generated Date										\$448,600.5	
	J1S3247	0001	0100	4132000	SCRUB SEAL	139,976.00	0.00	139,976.00	SQYD	139,975.90	\$1.33	\$186,167.9
		0001	0110	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	1.00	\$500.00	\$500.0
		0001	0120	6161005	CONSTRUCTION SIGNS	2,150.00	0.00	2,150.00	SQFT	2,150.00	\$6.00	\$12,900.0
		0001	0130	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$25.00	\$100.0
		0001	0140	6161025	CHANNELIZER (TRIM LINE)	340.00	0.00	340.00	EA	12.00	\$5.00	\$60.0
		0001	0150	6161040	FLASHING ARROW PANEL		0.00	2.00	EA	2.00	\$1,000.00	\$2,000.0
		0001	0160	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$9,000.00	\$9,000.0
		0001	0170	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	112,137.00	0.00	112,137.00	LF	112,137.00	\$0.18	\$20,184.6
	Project J'	1S3247 - To	otal Value	Posted to D	ate as of Report Generated Date							\$230,912.6
016-A05 Ove	rall - Total	Value Pos	ted to Dat	te as of Repo	ort Generated Date							\$679,513.1



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work. The information below this line are details for Construction Signs (if applicable). No Data Available



# Line Item Adjustments by Estimate

Nov 18, 2021

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J1S3245	0010	SCRUB SEAL	Material		1	Oct 18, 2021	SYSTEM	(\$101,905.88)	
				- Total				(\$101,905.88)	
			Material - Tota					(\$101,905.88)	
			MaterialCredit		2	Nov 1, 2021	SYSTEM	\$101,905.88	
				- Total				\$101,905.88	
			MaterialCredit	- Total				\$101,905.88	
	0010 -	Total						\$0.00	
	0090	4 IN. YELLOW WATERBORNE PAVEMENT	Material		1	Oct 18, 2021	SYSTEM	(\$15,366.54)	
		MARKING		- Total				(\$15,366.54)	
			Material - Tota					(\$15,366.54)	
			MaterialCredit		2	Nov 1, 2021	SYSTEM	\$15,366.54	
				- Total				\$15,366.54	
			MaterialCredit	- Total				\$15,366.54	
	0090 -	Total						\$0.00	
J1S3245 -	Total							\$0.00	
J1S3247	0100	SCRUB SEAL	Material		1	Oct 18, 2021	SYSTEM	(\$103,042.95)	
				- Total				(\$103,042.95)	
			Material - Total					(\$103,042.95)	
			MaterialCredit		2	Nov 1, 2021	SYSTEM	\$103,042.95	
				- Total				\$103,042.95	
			MaterialCredit	- Total				\$103,042.95	
	0100 -	Total						\$0.00	
	0170	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Material		1	Oct 18, 2021	SYSTEM	(\$20,184.66)	
				- Total				(\$20,184.66)	
			Material - Tota					(\$20,184.66)	
			MaterialCredit		2	Nov 1, 2021	SYSTEM	\$20,184.66	
				- Total				\$20,184.66	
			MaterialCredit	- Total				\$20,184.66	
	0170 -	Total						\$0.00	
J1S3247 -	Total							\$0.00	
Overall -	Total							\$0.00	